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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

4500 -

4000

3500

3000 -

2500 -

2000

Warning: col ["FVOEC ] is missing

—@— ECO

10

20

25

30




Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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P3-12

BriE) | EBIETK FD) | EE (EH/HK) | XK SRR

07:05 184 90.0 FH| 7hHA@07:05 KRENFEF (KRATRELES)
08:10 184 90.0 FA| 7HA@08:10 KRHIEF (KAL)
09:30 184 90.0 FA| FnHe09:30 REFEF (RFEERES)
10:25 184 90.0 FA| FnHe10:25 REIFEF (REERES)
11:15 184 90.0 FA| FiHR@11:15 RHEF CRAEZRS)
12:00 184 90.0 FA| FHA@12:00 KEFEF (KRAATEEES)
12:45 184 90.0 FA| FnHpe12:45 REFEF (REAEREES)
13:30 184 90.0 FA| FiHAe13:30 KEFEF (KRAAERESS)
14:20 184 90.0 FA| FHA@14:20 KEFEF (KRS
15:20 184 90.0 FA| FnHfe15:20 REIFEF (REERES)
16:35 184 90.0 FH| ThHA@16:35 KRENFEF (KRATREES)
23t 2024.0 (11%) 990. 0 3 FE&KEC: 2080.0, PH: 5.7

REREBIEC (2700.0) HiZEEC (2000.0) REI KA, BHEE
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P3-12

BriE) [ EBIETK (D) | EHE (EH/HK) | XK ERE

07:50 213 80.0 (Z=| 1Ri%e07:50 B3h (FEEESE)
08:35 213 80.0 (Z=| 1Ri&e08:35 Bzh (FEEEEE)
09:40 213 80.0 [Z=]| {Ri%09:40 Bz (RAHEESE)
10:30 213 80.0 |Z=| 1Ri%e10:30 Bz (GRBERSE)
11:20 213 80.0 BE| Rige11:20 Ba (REAEHSE)
12:10 213 80.0 S| Rige12:10 Bz (REEESE)
13:00 213 80.0 | {BRig013:00 Bz (GEBERSE)
13:50 213 80.0 5| {BRige13:50 Bz (GRPBERKSE)
14:35 213 80.0 BE| Rige14:35 BHa (REAEHE)
15:20 213 80.0 RS Ri%e15:20 Bz (REERESR)
16:15 213 80.0 RS {Rike16:15 Bzl (REERSE)
23] 2343.0 (117%) 880.0 32 F%KEC: 2080.0, PH: 6.0

MERRNER 2 5STREAERST (138.0 : 100.0), AJEEHF—@%E XA45
FRGEBERT A (213) 50HA (170. 0) R FF, W REH T % MEIER S XIER
ZRIASEBRIERE100. 0 ml.

RERSEBREC (2757.0) S5igEEC (2000.0) REK K, BFHRE
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P3-12

BriE) | EBIATK (7)) | EME (BEH/HK) | XKR EFRE

07:25 174 70.0 (Z=| {Ri%@07:25 Bz (RAEHSE)
08:20 174 70.0 [ =| {Ri%@08:20 Bz (KRAEZEHE)
09:15 174 70.0 FA| 1B2i8@09:15 Bzh (RAEEEE)
10:10 174 70.0 FH| 1Ri%@10:10 B3h (RAERSE)
11:05 174 70.0 FE| 1BRi%@11:05 Bz (kAFERSE)
12:00 174 70.0 FA| 1Bi&e12:00 Bzh (RAEREE)
12:55 174 70.0 FA| 1BRig@12:55 Bzh (RAEEE)
13:50 174 70.0 FA| 1Ri&@13:50 B3 (RAHERREE)
15:05 174 70.0 FA| 1Bi&e15:05 Bzh (RAEREE)
23t]1566.0 (9%) 630. 0 3 WFHKEC: 2080.0, PH: 6.0

TERRHER 2 STEEART (113.0 :

PRIASLPRIERE82. 0 ml.

82.0), AIREAT—A%E XAE
LRGEREE (174) 5740 (149. 0) FF, FIREH T & MG EIRS £ XER

RERSEEBEEC (2710.0) Hi&EEC (2000.0) REIK, BHE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=28 (2025-04-30)

604 VI VOFRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET | 1500
1100
40 - 904 - 1000
690
9 6566
20 1 fhaag 123 40 - 500
Warning: lcol [FVI',| "FVO’'] missing
04 r0
( —
v ME Fag
FRV maxM
100 -
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
: 1R - — — _ 41000
200 + By lnit @D30 q3.16. ET=386 Fg=350.0 Ro=1.0
1
150 - ! - 750
1
100 - ! &—&—9 |50
1 @ & L
50 - ! - 250
p—— & .:
0 PN o ol 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 1000
2012|2555 |25| B g fg i FH BH [A FH FH BH [A FH FH BH i 5 5 5 i 5
1
150 4 ByEt @D28 18:31: ET=587 Fg=656.0 Ro=nan 1 171 8 - 750
100 - 500
50 A - 250
b & —& o —o—
0 —p o P */—‘—-’/./ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 1000
R E N EF N EF R EF A EF A E R ERA ERA ER AL [A FH FH BH [A FH FH BH G ERE A ERREEAERS
1
150 4 ByWoFv @D30 q3:16: ET=566 Fg=630.0 Ro=13.0 ————@ - 750
= & @
1
100 - 500
50 A - 250
1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
0.8—§£ XN EF A ERR EFR ER E R ERETAN [A FH FH BH [A FH FH BH G ERE A ERRAEEAERS
0.6 -
0.4 1
0.2 A
b —
[ ] | _obs
—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=495, FV0=0 m=560, FV0=0 m=640, FV0=0

27.001 _g ME o IE
27.6 27.6
26. 75 -
27. 4 27. 4
26. 50 -
26. 95 - 27.2 27.2
26. 00 - 27.0 27.0 -
25. 75 26. 8 26. 8 o ME
T T T T T T T T T T T T T T
500 600 700 800 900 495 500 505 560 565 570 640 645 650
m=685,m FV0=0 m=730,m FV0=0 m=770,m FV0=0 m=800,m FV0=0
28.0 28.2 o— me | 2837 o— wE | 284 o INE
28. 2 0g. 3 -
27.8 28.0
8 8.0 28.1
28. 2
28.0
27.9
28.0
27. 4 - 27.6 - 27.8 1
— ME 27.7 27.9 -
T T T T T T T T T T T T
685 690 695 730 735 740 770 775 780 800 805 810
m=900,m FV0=0 m m=495,m FV0=0 m=560,m FV0=0
—-e— ME —o— MW | 31.0 —— MW
28.2 - 29.5 1
30.5
28.0 - 29.0 1
30.0
27.8 28.5 -
29.5
27.6 28.0 -
29.0
274_ T T T T T T T T 275_ T T T 285_ T T T
900 905 910 500 600 700 800 900 495 500 505 560 565 570
m=640,m FV0=0 m=685,m FV0=0 m=730,m FV0=0 m=770,m FVO=0
30.5 o— wuw | 307 — W o— wuw | 3107 — I
30.5
30.0 30.5 30.5
30.0
29.5 i
30.0 30.0 -
29.0 99, 5 29.5
29.5
28.5 99. 0 - 29.0 -
29.0
640 645 650 685 690 695 730 735 740 770 775 780



m=800, FV0=0 m=900, FV0=0

31.5 4 —o— MW 31.5 A —o— MW
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30. 5 30. 5 A
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P3-12

RriE) | BRI (D) | EME (EA/K) | XK SRR

07:20 152 60. 0 FB| {Ri&@07:20 Bz (GRAFERSE)
07:55 152 60.0 FA| 1Ri&@07:55 B (KAHEREE)
08:30 152 60.0 (Z=| {Ri%@08:30 Bzl (RAMEESE)
09:05 152 60. 0 B Ri&@09:05 Bz (REEESE)
09:40 152 60.0 BE| 1Ri%e09:40 B3 (RF{EREE)
10:15 152 60.0 RS {Ri&e10:15 Bz (REERSR)
10:50 152 60.0 el Ri&@10:50 Bzl (REAEHE)
11:25 152 60.0 el Rige11:25 Bz (REAERSE)
12:15 152 60.0 Bl Rige12:15 Bal (REEESE)
13:15 152 60.0 RS {Ri&e13:15 Bz (REERS)
1400 152 60. 0 BS| 1Ri%e14:00 Bz (GREMEEEE)
14:35 152 60.0 S| 1Rige14:35 Bzh (REEESR)
15:15 152 60.0 B Rige15:15 Hah (REAERSE)
16:00 152 60. 0 BS| 1Ri%e16:00 B (GRE{EEEE)
213t 2128.0 (14)%) 840.0 3EGHKEC: 2080.0, PH: 6.0

TERRHER 2 STEEARTF (195.0 :

ZRIASERRIERE141.0 ml.

large discrepency for begining water status (150:225.0), set to 150 ml.

141.0), AIEEHT—RE XA HS
LoRGERRETC (300) 57HA (128. 0) FF, AR T & MR EIRS £ XER

REREEBIEC (2663.0) 5iZEEC (2000.0) REKK, HHE




P3-12_0, Day=27 (2025-04-29)
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-12

AriE) | BRI (D) | EHE (EH/HK) | XK ERR

07:05 190 50.0 RS {Ri&e07:05 Fzf (REERSE)
07:45 190 50.0 BE| 1BRi%e07:45 F3h (GGREAERESE)
08:20 190 50.0 S| 1Rige08:20 Fzh (RFEEEER)
08:55 190 50. 0 RS {Ri&e08:55 Fz (KAL)
09:45 190 50.0 RE| 1Ri&e09:45 Fz (REERSE)
10:25 190 50.0 S| 1Rige10:25 F3h (REEZESR)
11:05 190 50.0 el Rige11:05 Fz (REAEHE)
11:45 190 50.0 RS fRike11:45 Fzf CGREAERS)
12:25 190 50.0 RS Ri&e12:25 Fzi (REAERESR)
13:05 190 50.0 B 1Rige13:05 Fzh (REEZESE)
13:40 190 50.0 BE| Rige13:40 Fz (REAEHE)
14:20 190 50.0 BE| Ri%e14:20 Fzh (RFEAERESE)
14:55 190 50.0 RS {RigRe14:55 Fzf (REERE)
15:35 190 50.0 RS Rige15:35 Fz (REAEHE)
16:45 190 50.0 BE| 1Ri%e16:45 F3h (KRGS
=1t+]2850.0 (15)%) 750.0 32933 %EC: 2080.0, PH: 6.0

TERRHER 2 STEELRT (124.0 :

PRIASLPRIEBRE89. 0 ml.

large discrepency for begining water status (111:198.0), set to 111 ml.

89.0), AIREAT—AE XAHE
LRGEREE (190) 5748 (106. 0) FF, FIREH T & REEIRS £ XER

REREEBIEC (2620.0) 5iZEEC (2000.0) RERK, HHE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=26 (2025-04-28)
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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